Fl ok AR
%%a%%%%ﬁwiﬁﬁﬁ%

0. 3 U & (<
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CHANZEESOH ISV L ICEbTwa, TR HARE

CIFEBEERIOLPBVOICEETIIIOH LI O LARTH SRS Z L
Thb, 77, BEREFZEEOEN =T -y -2 LT, N =/1,/,/s/
~/0/,/2/—/8/,/v/—/b/ T2 &% BT CWBRTIIRb H 53

XS IREDOME TSR BE - ARAPEEDO TSR L LTHE
A2 ERERWICHETHL LV) TEFFTDPoTE TV, FERrDFH
Wi (828 K] EMHEN S A OBES G BB RS o T, KNSHY
MAalL, ZOBEBFDO/NNANY FROF LIPEiEL LTERERE S, TnlSoRE
BEHOBFTEIHIZ TRV 2 EERTERMIOF L LTSI sh, Sif
DA OBEBICEONTLE) S L\ve HARFED [/3232 F ] IZHERIE <
THVERETICH Y, EELZDOLTHHCKRDTIRIL, TNEIELH,ITH-
ZAEBVREREFEICHEL LY oF ), NEEOHENDIZb - L bERR
FEFTREDHARFED/NANY U EOFREHFIZE L TW5HDT, HAFER
HZ L s THEEST L LTRBTELRVWEWVW)I ZETH D, 2595 [RALT
PONEEZBETNA LHICTAICE, ARELYD OEVEE OEY AT
FICEEFIRVIAAT, FIICINEF#HITA =22 DAy VT =T %
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ERTHIEHFLETHE, TNEREBOBEYVELOINHICLS Lk

Vo [P EEbhTwa,

WEEDFEER X T 572012 hearing DFIFES AT R THLEEI T &b
DHFFEIC iof%%ﬁ)b»&o“f%’(bléo B EHNZWFIEIRETE AW

STEIETBHE, 5 ﬁ%EQL@7U77A%ﬁ5$\T@%7U 7 B
SRIET 5 &\ ) EEREEAHETWAY

1. H iy

AHFED HBYIIHEFEIEE ) 7 X N OREROSEBUC, 9, HAAESE
FEBICL > TRIPHBIEE L SN TWALFEEET—HOHTL LD
LICHBGEIIEVH LMY, FORRY H - LESHEERO LB O 55
LEBTLIETHAB,

RIZ, BHELETH- T, BN EFEEOMEICL 0T, BRI

%&% L, ) THRVEENHDL LEESNLDT, 72k 21335, &

RBCTHEZIY) ORBESIZERD LD, VO, %ét?ﬂib@<6m
LOVEBEL, TOERIZOWTEREMA %,

T72, BT AV IOEPLRERAICEFREEICH Y 22 ORI BT 2 FEAR
WBREL EZDGEDVBEINLD, FNHFEERNCBTLABEESEELA
RANFEBEOLHEHNA D ZALOMEICERTA O THY, MR ED
TERIZEE L TH DN R IT IR 5 2 BN EZD A0 5 OBEICOWTEH
T5,
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2. B O H &

2.1 tHEBE

HARNEFEFEE &151% (EFRFERORFE2 - 3FE)

S [EESEF] D20014EE L 2002EEDOZTHE AL L ITRICITo 72,0
2.2 EH#

HIROBM [HEREEE| (Yo IR, 1994) 0200 v A X OHp
5, BEOTFHRNT A FoEgeigL, mELLZINDTHS, R.7 F—
® Listening Test #4347 L, ZO7F—7I12EDWT, HRANIFRICHEE S
5TFEOMTEIEISTBEHE SN TS, FEERNTIZOWTENLENI0NTD
minimal pairs % & A 51005 DO (3.2.1~3.2.10I1CFR) BT A PXELT
AwbnTwd, ZnrBERERESE (TXVAA) PFssaALY, ey b
EE LD ERLE LTS,

1. s—§ 2. t—0 3. r—d 4, n—p 5 I—r
6. r—w 7. f—h 8. b—v 9. s—6 10. z—3d
2.3 FIEB

2. 201003 DL HEREFEFREFIETORETHY, 1FH(a), 2%
H(b), 3FH(c)DWFNL—2Z MDD EELR TS, HEEE
%ﬂ%#%bf,mtﬂﬁé~o%7~7>wb®%ﬁﬁmv—7¢%

129 (75%) WILLHKZECTAY FA—Y52BUCEREHE, fbo 12
7X(%%)H%Lﬁéf,ﬁéﬁpﬁnt%~jv:—ﬁ—# FFE R
720 F—DEBGTHRWE ZAICEEILD D5, SHBREOIRE M FHET 4
DHAEWTIRE L, RUCBT2HEEOENEL RS ) 2o Th ML
HIF LT, T2 5 ADKREHE L THEMLEY L7,

WERE O L YV ER LM R T 2010, JEPRETFMO—EE L THA S
NnNAZEEET, BELZOIHIIZLI
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3.1 #igl
TR ROZFEHILICBIT B EEEEZ BT L (ERIITRTEY TH -
72 INEFAMIZENBZTT I TTRLIEZDDOWE (F571) Thb,

B s—§ t—0 r—d | n—ng 1-r r—w | f—h b—v s—0 z—3

% 87 88 80 64 56 31 34 66 59 49

% m/ANHBIFHEEET 57

FTHRMEEHTARNEE, HRACE o THEIREE S NTWE/1—1/DX
TEDY/2=8/ DT OREPELICEEESFTENE VNS T L ThHbD, /8/IFH
REIZHENWETH D00, FERINRTVWILIEILRFREENLIETH S,
LA L (@A, 1969) *°, (Black, et al,, 1979) #YHAADER D BEV LT WE
DRTELTEFTTVEENEFNERE THOPIZZORTIEETN TV

HWIE - B (1998) (KFEERHMEIMY 7 A FORERE LT, HAESRE
BRFEOERNTT =85 =V A MDOFIZIDORTEZRITTWAED Rk )z
(1982) DEH LH1Z, [BEOMBIZFDFBEDLFIZL o THh Y DEM



HARANEREZEE R B 5 R T E TGS B O ZERAYAF 78 123
HHNP ZLEFOELEZBVDTHS I,

/8/EFEMICIE/2/ L0 b, T LA//ITEL, FEDTFAPXTIZEAS
TWHRWAY/A/ L DBEIEDEZ N LRI NTEY, FlAIErE (1984)
b TAY =W ORERERLT, [F2—T47 - JAF—HFHLEHNESIC
XL TWaA/t/E/1/%//E/v/, /A L/8/7% Ex bbb IEE T
TWAHEFHVWTWAZ ER—R L Thhs, D2F)FNLZIRFET AU ERED
BWEWn) T THE,]0EFoTWV A,

L2 L/8/I12k T, /d/IZFE H (Point of articulation) A3#E W 721F D B4R
THHY, [/RAETAOESCBATIH/A/EFALTHS (K55 b WEE)
Fiz, FEFE (Manner of articulation) 25[E UBEEE CTh A 0 b —EBHELVED
B, AL REEE L DIZ S D LR,

SEEMBILTRICEASZ &, FHIREVEEIIBEN TV AGEEZ
DDA TESENBVE V) L THE, EEREMAXT (/i/
—/d/,/t/—/07,/s/=/5/,/f/—/h/) 12 B T II10x O minimal pair sentences
TRCC, FUNREIEFEICHLIEPLDHLITH L, BLIZIEEEL
FEDEIZ AT E D < % minimal pair sentences DED—ER TH 5o

il

HEEA| r—d | t—6 s—§ f=h | r—=w | b—v | n—p s—0 | 1-r | z—3&

IEEE| 90 838 87 84 81 66 64 59 o6 49

FEEA| 10 10 10 10 3 8 0 5 5 2

/r—d/, /t—0/, /s—V/, /t=h/, /r—w/® EfL 53T IEEFS0%LL LT
D, LEHELOKFIERETHAPHRFICL > TE, BREINLTVE SR
TWALEESGOF CIIHBEWEIIY) T W e g o7z £72/b—v/,
/n—n/, /s—0/, /1—t/, /z—8/D T 5AIEEERNORLUTTHY, 4EHOD
EERICETARY, ROFIEELZSHTTHL I EOHHLZ, LBEES
WCEIE LB EDEEDOEILIIZB TH A0 0, b ANKNELRZZTIIOWT
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b, PRECHLREDORFRIEETHI L SHH L,

p=1i1}

ol

3.2 BRIHOEFRENEERLEZTOESE
.21 /s/—/V/

Z DFEXTHVY 572 minimal pair sentences (dX?D1) ~10) TH 5, [s],
(IEBDICHAFBIIDLETH A0S, HARETOEVIIEFED L I 2 e ZMyt
MTIE%L, //OERFELTOMEETHY), ZO5MIIHEEHTHL, o F
DEEA/ORITRET/s/RlE %Y, 2ohoBEOMTE[sITH L, 20
£ GG ETEREOEE T L T perception, production T I 12 35 \» T [ #
HeRdZ EldLado (1961) DRT EBY THBY

1) a. Take a seat please. b. Take a sheet please.
2) a. He is saving himself for tomorrow. b. He is shaving himself for tomorrow.
3) a. His seat is covered with dust. b. His sheet is covered with dust.
4) a. You must save for her. b.  You must shave for her.
5) a. It isn’t the good sign. b. It isn’t the good shine.
6) a. Will you sell these peas ? b. Will you shell these peas ?
7) a. The wave hit the sore. b. The wave hit the shore.
8) a. 1 will sell them for you. b. I will shell them for you.
9) a. It’s an old sore. b. It’s an old shore.
10) a. He didn’t have any sign. b. He didn’t have any shine.

L2 LEEELR 7 A b OfFER, EEFRIIRL, 79 7 TIIRT X9 27
WEWEBETH - 70 3T O minimal pairs 125V C, FEIZRD 5L Tw
SAMBEFVNBEIZDABN TS EPFRBOEEE LTELONSE, 2h
BBREBD//—/d/, /t/=/M/IZDNTHNE B L TH A,

=
1 2 3 4 5 6 7 8 9 10 S

90 85 59 90 93 81 92 94 95 91 87
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7571

%
100

/s/—/y IEEER

80
60
40

20

1 2 3 4 5 6 7 8 9 10 Ave

b 9 —ld, His seat, His sheet DFE L, FAEFH TOHWTRMEOKEE, [z]
TR L ENEN [hisit], [hilit] EEZ 2 %728, spelling pronunciation |2
BN TWAHEEREEZIZIE, EOBRRI/SEBFTEZT, WRIKFELTHEED &
WETHILPURL D oD THL ) L) 2L THE, INHER - EVE
ph (1998) iEChz [HBERRIY LIFATV S,

“His seat”, “His sheet” DB LTIV FARZ b I L2 L IZRT,

] 100 200 300 400 §00 600 700 800 900 1000 1100 1200 1300 1400 {500 1600 1700 (msec)

- >

3] I-
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3.2.2 /&/—/0/

Z DX ILE % & T minimal-pair sentences (I RXD10xFTH Y, RN, 7571
WRTHED, FEHTTESERIIN R D EV,

1) a. I will take the tenth. b. I will take the tent.

2) a. He has a good theme. b. He has a good team.

3) a. It’s atin can. b. It’s a thin can.

4) a. We’ve got small tanks for it. b. We’ve got small thanks for it.

5) a. He thought his dog to be good. b. He taught his dog to be good.

6) a. Is the theme good enough ? b. Is the team good enough ?

7) a. What’s the tenth ? b. What's the tent ?

8) a. Please say tanks. b. Please say thanks.

9) a. He never gives me any tanks. b. He never gives me any thanks.
10) a. How many trees are there ? b. How many threes are there ?
=3

1 2 3 4 5 6 7 8 9 10 I

o7 91 97 91 84 95 49 97 96 99 86

7271
A/—10/ EEE

%
100
90
80
70
60
50
40
30
20
10
0

1 2 3 4 5 6 7 8 9 10 Ave

IR ZTCEHIREAE, DEDNICBWTOATEEERNHBRICENT & T
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bbo TOBHIESICEECONE, OF VI TRHTEFTNTEHEICEA
TWAHDIZRLT, 1), NOEBEVZITLEFERICEN TS Z EFNFDR
HTHB, MUBENZTOREEL W LEEFOR CIRIERY SHBMES TH
D, BRTFELLTHEHNLRFEIESIYIZ{ W LE2HLDLTWS, Tl
HABROFHKED, BF (VbW LHE) DASOFEILEIIRA IHE 2 4F
IHBEHITHL L) ZEITHRTHIEELT L VR B,

.23 /v/—=/d/ |
DEFENTOEEIY 7 X MiE, RDO104.D minimal pair sentences T 72 &
N7z &V, ZF7I77NITRT LI, EEEFNRDLE» -7,

1) a. That’s a big rock. b. That’s a big dog.
2) a. They were dead. b. They were red.
3) a. The rock damaged our boat. b. The dock damaged our boat.
4) a The red birds lie over there. b. The dead birds lie over there.
5) a. Iheld the rice. b. I held the dice.
6) a. I used white rice. b. I used white dice.
7) a. Can you rip it ? b. Can you dip it ?
8) a. It was a beautiful ray. b. It was a beautiful day.
9) a. Throw the rice. b. Throw the dice.
10) a. He rips it. b. He dips it.
RV
1 2 3 4 o 6 7 8 9 10 T

92 94 31 76 94 87 91 97 94 92 90
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%
100

/r/—/d/ EEFE

80

60

20

1 2 3 4 9 6 7 8 9 10 Ave

ZONRTIE, & (1984) 07 F A5 =M THEEEOFHVEDNT LI
ZoTwRwl, F2I0H - B2 (1998) @ HAGEGEEHIFORR L 23
TOHFIZH ATV, HFENVEEXFGUTVHETH L LIZEZ WD, £h
ZLTHFEHIO% EVH DIFTFRENDOBESETH b,

ZHICIERD 2 HEFRR L LTEZONLETH A
(1) AEFEREFELCTHAVHAE AV EL S,

(2) ARIFTREAREVFINTREALD S &,

(3) REEOWEREZ L > THEENPTNTESHTHL T L,

PLEDIEICZ OEII DO WTHERTTRE Z L idEN,

3.24 /n/—/v/
ZDORT THVS L7 minimal pair sentences |ZRXDI0xFTH 5, TVI, 75
IRB X HIEERI/ 2/ =8/, /N —=/v/, s/ =/ IR TRW,

1) a. They win the way. b. They wing the way.

2) a. It was a good teaching. b. It was a good teach-in.
3) a. They got tongues of oxen. b. They got tons of oxen.
4) a. I saw her come in. b. I saw her coming.
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5) a. Are tongues of oxen enough for it ? b. Are tons of oxen enough for it ?
6) a. Don’t say any more about his wins. b. Don’t say any more about his wings.
7) a. Heis a young singer. b. He is a young sinner.
8) a. I will ship you a ton. b. I will ship you a tongue.
9) a. She heard him come in. b. She heard him coming,
10) a. She bought thirty tons for me. b. She bought thirty tongues for me.
=3I
1 2 3 4 5 6 7 8 9 10 | P

o7 71 44 94 36 35 36 36 83 44 64

In/—/y/ EZESE
%
100

80
60
40

20

1 2 4 5 6 7 8 9 10 Ave

/n/—/0/DFFNPRELZEAEZRD X HIZEET S,

WEDBEIL/m/ /n/-/9/D 3FETH BHD, /n/id onset ITITHN L5,
/n/—/0/DVT BHDIE coda IZBWTETTH Y, F 72 onset TOXRIIL/m/
/BT ThHb, —HAREDEF I m] [n]-[n]-[p]- IN]JDSEFD Y,
FOR TR/ m/—/n/7EFHERLE L THYL, RFEOHEL Ik CTH 5,
o TZONETORZTOFHNEHAFEFEICL o TE{HEETER VY, L
LFEORBUFERICBWTIEEBI&l &2 5, BFETE/m/-/v/-/0/DFT
NTERHRNTLETHOIH LT, BAETEEFELY SZ W m]-[n]-[n]
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(0] IN]JD S A RE & L THRIVEHBIG AR L TR A 55, HARFEFREIC
EFTRTE—F [¥] ELTRETAIHENTEDD > T0E, ZOBEHIE
BENKILHREL L LEDITTH A,

EZADFHPHETDH 5139 D @ minimal pair 1IZ2BVT4), 6), 7), 9)
TIEERPO%EZBITVEDS, TNELETHS I D

ETEOR), YRV THREZH > Thb, 4), 9FIITRICBIT 2
‘come in’ (/kamin/) & ‘coming’ (/kamin/) DX TH b, 7 — 7% Th
% £4) Tl ‘come in’ — ‘come in’” — ‘coming’ D JET, F 7-9) T come in’ —
coming” — ‘coming’ DIETHEEF EN TV L, WFIIZBWTH coming in’
TIHFE I EFEIC, ‘coming’ T [ FEHISHENFBLIN TV S, HBEDZL
L, BOBEVID DL LAMBEEDEC, LOBBRICKELzEEZ BN
ETH ),

BI I i34) @ ‘come in” — ‘come in’ — ‘coming’ ¥ 47317 240 0 Lo CTHOHT L
TZRTE - ¥y FHIBR - JRRIBARS VRS S A TH B, 3IEOHEGITTFE//
DRIEAERL T3, €y FOZALIE, a)133>173-73, b)140-188—76,
c)112=72L Lo THY, FEHBBEFRFOFEL a)—14dB, b)—13dB,
c)—24dB TH D, /kamin/— /kamin/— /kAmin/& 7z > TWAREFH L < b
N7

IR CETDOE y FHBOLBEDAER LS DTH B, a)l150—>200
—78, b)200—>79, ¢)202—74L % >THBY, /kamin/ — /kAmin/ — /kAmiy/

DNEIZHEFEINT VWL Z L AHETH 5,



3.25 /V/—=/r/

ZONRTITHARNMN

sElIrlo

HARANEBFEFE BT 5 EET-H IS B O FEBRIITE 131
u—gww*ww:ﬁmm WMW‘«W l%
¥ A2 m 1 n ¥ A m E A m 1
(kHz) +14-09
30 m%‘,; :‘“ﬁ% :*?%
2]
EOTRDBRAILRTVWETH S, TNTHAREIRE
BT FEOEDOLDRLLT, LLbENDFEED/N/ &b /r/E bEH [HE
BETHHILICHRL TS, 2020 [647] T8 (U
A GV H - T, BEMTIIHXEM]PHEN, FBHE

/t/EREETH) IT2DDE
“HME%Mﬁﬁhé@?%é#%—%@%T%éo
2N~/ DEN T TERO R
ﬁ@gmw—m@&5>ﬁﬂMi%%%@@:@%@%%%

WE
EQAE:

272 % minimal pair words (light —

77 1 production,
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1) a

9) a.
10) a.

a.

a.

Is it light ?

=

X ALEEsE % 22 %
perception DTENIZBWT E OO TEETH 5,
T, COFHFMTHEIVICHVONzTF A ME, DTIORTION D

minimal pair sentences T& 5 o,

It’s a big lock indeed.

Did they play before the party ?

I will take the light one.

They are new flutes.

She played before dinner.

Don’t step on that glass, mom.
Which one is light ?
Can you lead it ?

Is that flesh ?

b.

o o g T T T T T T

Is it right ?

It’s a big rock indeed.

%25

Did they pray before the party ?

I will take the right one.

They are new fruits.

She prayed before dinner.

Don’t step on that grass, mom.

Which one is right ?

Can you read it ?

Is that fresh ?

7T A NDOFERIZEN, 77 7VHIIRTEBY T, /8—z/I2RTIEEEIME
Vi, /B—2/DEEIZIE, 3.2.10TEART 5 L )2, 7F X 2% prosody & & ®
T5E2 7% minimal pairs & L THEE SN TWRW29HZ, prosody # A0 0 |
BINERE Lo L BONEFAN2HEEINTVEDT, TRERITIEBEZH
CZDBEFFDEERNFROIEL o TV 2Ths ) LEFEEND,

FVI
1 2 3 4 5 6 7 8 9 10 E
71 60 o5 o0 41 63 57 69 o0 49 56
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A AVAY
N—l/ EESE
%

100
80
60
40

20

1 2 3 4 5 6 7 8 9 10 Ave

Zi/ L L DIERITOVDEREZMA 5,

i?%&%ﬁf?%@fﬁ73 23 55), 10) D ‘“flutes / fruits’ X° “flesh / fresh’ TILF
A ) EEEDR WV, LA LFITIE6) ‘played / prayed’ TIZIEZEA63% &
DRYBVWORTETHS ) o BEFMIZL o THNTALE, ZOHED

T FAPIREEIIBIIASHAOE YRR TH S Z LB L7z, MIVAH
AT LI, a, b D ‘she plays’ TIX TR, ¢ TEEFFAIPH LN TS,
WREHEIZZOFROECIIKIS LT, BARCEEEZY -7 L2b0Llbh
5o

K1), Q) DFEENEDLATLEVDE, &5 5 b ‘light / right’ @ minimal
pair CAHEREVFEHICENTWAZEPERTH A ) L ESNL, 720°, £
I L CUE, B L < ‘light / right’ DXt T&H 54) K U9) D ‘lead / read’ T IE & 58

L BVOTH D, FOMHZLEREIFHTH S,
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Hlll

smofbiff 2% 25

400 1650 1200 3350 1500 1650 1800 1950 2100 2250 2409  255%(ms

Ji ple 1

. et

iy,

KV (she plays—she plays—she prays)

3.2.6 /r/—/w/
Z DT THW S 1172 minimal pair sentences [$KD10F TH B, 1), 3) DA

AT consonant cluster @ 1 {2 X

VEFHLLNTBY, ZNUHNITRTHEFE

TONILTHbH, XM, 77 7WTRD L) ICESFREINZ DBV,

a.

a.

o

I had a quarrel with the trim boys. b.

The river is full of reeds. b.

She had trim girls.

He bought the rear car.
They can find the right box.
He pulled out the weed.
The rear house is Bob’s.

Look at the right building.

He bought his son the rear house. b.

Tom got the right color by mixing b.

two colors.

SR R SR B

I had a quarrel with the twin boys.
The river is full of weeds.

She had twin girls.

He bought the weird car.

They can find the white box.

He pulled out the reed.

The weird house is Bob’s.

Look at the white building,

He bought his son the weird house.
Tom got the white color by mixing

two colors.
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=V
1 2 3 4 5 6 7 8 9 10 SRy
59 60 80 91 94 80 71 92 87 91 81
72 7V0
% fr/—/w/ TEESE
100
90
80
70
60
50
40
30
20
10
0
1 2 3 4 5 6 7 8 9 10 Ave
), DEBWTHILEN TR CEEICENL TS ZENFELED 1 EFT
HAHH)EBbNLE, TZTERLZITNELZOLVOIRRDIHATHA 9,
(1) 1), 3)iF&H 5D ‘rim’ & ‘twin’ @ minimal pair TH 5 D |2, (A IE
BZEDP20% b E R B DD
(2) 7DIEHETCTOMNVTHADIZ, MOEBHEEDILHWE ETEEIE

BERPEO R
I
Hbg, FEIMNS
BFOEBWIRKDONS, 1)D
Bhig [b] ORETHEEHT
boys’ A¥5E

/\(.4\75:
e ld ‘twin’ OFE
TRMALL Im] & R B 7-0,

‘twin’ D E&
2 A%, ‘trim’ D [m T EFRE [g] 12 ¥4T
ElE R B,

AL s, T4

IZDOWTEET L, MEZDIE, 3)2%onset NOXFILTH 52D DD
WS RENRE V) T ETHDL, ZOREKITHEE
JE& 13 word boundary %z 72
‘trim boys’ — ‘twin
472 minimal pair & %2 %, —753) ® “trim girls’ — ‘twin girls’ T3,

FEE[nliE, 2130 word boundary %8B 7= gl DB

#ZCn]

7% minimal pair

T THERE 13 /t/—/w/ DRI L TH/m/—/9/ (2
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DFFEH T Y RETIE V) OEWICFS L TIEREZRSL 2 RO T
Hbo TORVEZORMEHEIIRL T D,

0 200 406 600 800 1000 (200 (400 1600 (800 2000 2200 2400 2806 2800 3000 3200 (msec)

twi g ger 1 z t wiyg gor 1 z trrm gor 1 z

XV

SEDHERIZZNENKEREDWEE 2R L TWEY, KA TOE2 7+
~ ¥ MEIEN,LIEIZ1828, 1796, 1212TdH %, Lass(1976) 2 I i, /m/, /n/,
/o/ B XT A EENEHE L TE2 7+ VT Y POEVWEREITTEY, /m/
\3491,300Hz, /n/i3#31,800Hz, /p/i3#2,000Hz & L CTH Y2 EEEIXIZIT
IhE—FT 5,

STEUZDWTTH B, ‘rear’ & ‘weird’ 135 H 12 1E minimal pair TIE 7\ 55,
FERPASHE I connected speech DT LIELIXHE (elision) ENAHDT, I3
& A& minimal pair E AT LB B, 7)TIE1IEIHEE 2[EHIL The weird
house is Bob’s, 3 [B[H A% The rear house is Bob’s EHEHF SN TWEDTc &~
— 7 FTHTEBTHY, WEBREOTINIIELLKIGL TS, &IA0°2HH
(b) Tid/wiord/D/d/DFEENTWAEDIZ, 1HE (a)TR/A/DPHT S
TV, BELZHEBEED2/3HFb 27— LTWDH, S5/ t/—/w/ O
ML D B /A/OFMIZ, XY BURIIE L2 D 5,

MVIT, #fiZ/A/ONEZ LD LA DTHY, ZORTOFTEITH (a)
AS—40dB, #%(b)AH*—22dB Z7RL T\ 5%,



HAS NSRS

1 150 300 450 600 750 900

1050

1200 1350

S E BT B YRR T B WA B B O KR

1500 1860 1800

1950 2100 2250(msec)

A

3.2.7 /i/—=/n/
Z 2 TH 572 minimal pair sentences (3kD1) ~10)TH b, K, 77
JWIZREND LI, EXEREPLDEV, EHLLEFEREETH LT
S ERBTEHVONEWETH S, [WIZHAFED NMTF&E/W DRE
LTS /a/, Je/, /o/DENCIL2DS, /0/iE/i/ DR TR, /v/DRiTid[e]

b

He seems not to fear me.

It was a long fall.

What is their fight ?
Automobiles are on fire.
Did it fit you ?

You don’t have to fear him.
It was my foul.

It was a perfect fit.

What a nice fall they have !

It was his fate.

c g g g g v T g T T

s wror dh s v s

He seems not to hear me.
It was a long hall.

What is their height ?
Automobiles are on hire.
Did it hit you ?

You don’t have to hear him.

It was my howl.

It was a perfect hit.
What a nice hall they have !

It was his hate.
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XK
1 2 3 4 5 6 7 3 9 10 I
60 71 99 91 92 78 97 82 31 94 34

/f/I—/n IF&ESR
%

100
80
60
40

20

1 2 3 4 5 6 7 8 9 10 Ave

1) ~10) 4 -_"T® minimal pairs [ZB VT, ARSI EBHEICEHALTWD D
TIEERPEP 72O THA ) LB SN, LPELIDOETESFTORY T R
FORRIZELTRO 2 HIZOWTOBERESLETH S

(1) FEULEFEEICD D LD 5]1) TRITIELEERI60% & FHE L D 2458
42 FLEVDIZZRE D,

(2) 2) LY IEFL ‘fear” — ‘hear’ TOF A P TH B DI, 2)TIH71%, 9)
TIEBI% E10RA > FDEDDH AHZ &I, PN RER DS 2 Dh,

FPONIONWTERET L, T—TOEFXELL LT CIREL L TH B,
THXAMREZAAED, 3EE DE L intonation THEE L TWhiwnwa EHER
T® %o ‘She seems not to fear me.”— ‘She seems not to hear me.”— ‘She seems
not to fear me.” DIETHEFL TVEDThAELETH L7, FHHIT—EE T
BoZHRTHTWS, HBREDL B ZDOFRDEVIZ L o TREILHE
ENnizZ b3, BEFAREFLTWEZERS, HE2THE, DA
TH I < minimal pair sentences TH 255, WEEIZLEZIZ, FokH %
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SHVEVPHBTL 22 FUTERVOT, —BEFOWRENBVEFTI 5.
VIid ‘She seems not to fear/hear me.” DI - ¥ v FHIfE - AXF b T 5 LT
Hb, Eba,b, cDIETHS, 3EDHHIICESE I EHO, FHEOEE
FLLTWwA,

Kiz(2

[} 350 700 Q050 - 1400 (750 2100 2450 2800 3150 3500 3850 4200 4550 4900 5250 5600 (nsec)
+
4
+
+
W %
- % FaN o
i - Y
170 * e 4,‘ . : "
+ + + +
130 e a 8 . vt MY w4
+ % M, Y
90 N N g
50
8
khz
7
B
5
4
3
2
1
[

NZDWTTHAHA, TITHRERIZ, ERP/EEL Tn5EZ &ho

720 B X > TENE R TA LI ‘long fall / hall’ DEFFHETH 5,

[ 200 400 600 §00 1000 1200 1480 1600 1800 2000 2200 2400 2600 zsuu 3000 3260 3400 (msec)

1o 9 far 1 1o f  hs: 1 102 g ha 1
249
Hz
210 A
JrLL T * oy
70 » . % b -, hy
o " 4 . o Y
* et Y, Py % 5
£30 4 b * Yttty g
% " * *
30 e M, R
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a (ZEMDPEETHEIEFARZ VAT ILLVHELNTHEY, K
FHIRRAS3 FH 3FRIZED o TWwWb, 1HEEDFHEE T ‘long’ 25177Hz C, ‘fall’
(d219Hz 2> 586Hz IZ T A% > T\ b, 2 [AH Tl ‘long’ 25142, ‘fall’ #7192—82
‘Hz Td Y, 3[EHEIE long’ #5181—129Hz & TREFI T, ‘hall’ b F 7-172—87Hz
ETH->Tw5, ZORE, E&(a)71%, B (b)19%, BEE(c)11% EN
TV E, DICHRTIORS v MEEERSHE LI LEZ 5D,

3.2.8 /b/—/v/

FEERD FAMIHWON/ZTF A MIDTOIOMOBR/NEILTH L, 57
B REFIS), DEBRVTINTLHEICH LD, £X, FIFT7KORT LI
EBEFIFEY L TEY,

1) a. Put the base there. b. Put the vase there.

2) a. Can we buy his boat ? b. Can we buy his vote ?

3) a. He bows before the king. b. He vows before the king.

4) a. How many boats do you need for it 7 b. How many votes do you need

for it ?

5) a. These are bases. b. These are vases.

6) a. It should have a hundred boats. b. It should have a hundred votes.

7) a. 1did it for the best. b. Idid it for the vest.

8) a. Watch out for the curb. b. Watch out for the curve.

9) a. There is a sign at the curb. b. There is a sign at the curve.
10) a. They bow with the Bible. b. They vow with the Bible.

xX

1 2 3 4 ) 6 7 3 9 10 S

78 64 66 68 76 60 66 64 42 74 66
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TZ7K

— oz
% /b/—N/ EEE

100
80
60
40

20

1 2 3 4 ) 6 7 8 9 10 Ave

(VATBRFEICIEWETH D, —H/b/ 3T FEE LTHARFEIZD D 5D,
HARFED/b/E5FEIX, BEBICBVL T LIELIREESILLTBIE R b, fEto
Tl L [BIVEHEEORBRICZ 256V % v, Lb HARFZOHHETIIHK
AP DTV ERFEI SR TV, TEFE (1981) D7 525 =3 Oik
BThH, RIMEEOEVE BMTwb LN RT) O—D2LkoTA,

—HLTHLPTH 5D, 1@@Ef§$ﬂiT&f6O%N80%@ MiZd 5D
12, DICBWTNT42% & g 2 EE ARV, HEZOFHEEDE VP
5, HZREEFEH I perception, production M 2BV THREFE (=coda) 1255\

IZFEETDH 5%, F L minimal pair TOFEXE ) TH AH8)H22FK A M b &
WIEEELZBETVWLIDTHENL, CORKFEHITRIIERDOONEREZTH 5,

COHEED, LRIV SEHEUNOERIZL > THEBE DL { PFRRENLFHT]
EINTWBRZEMHHL, IX—A, IX—Bi, 8)L9)nEhEh 3ED
HEa, b, cCHUZTOHNLLKDO—ELY Vo THmLHEE - ¥y
?Ef%@ﬂﬁﬁ“’(“?)% 8) Tl ‘curve’ — ‘curb” — ‘curb’ DJET a ASIEME, 9)
I ‘curve’ — ‘curb’ — ‘curve’ Th AW IEETH 5,
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(kHz) +18-08

2 3
e
210 . + *

{kHz) +18-09

190
170 . »'+
150
130
110
30

70

50

HIX—B(9)

—RLUTHAIRIZ, 9D alZil il Eo-FRATHEE SN TS, HERE
DELHEDENIRIBLTat2v—2 LTHBE LR/ I3, FEEBLE
BOLEEDR2U%DWBEN a ZEATVALAIEDNLLBPLPTH L, FOME
QBT HLEEENPRFEIEL Lo TnEDOTH 5,

3.2.9 /s/—/0/
Z DFEFMILTH 5172 minimal pair sentences (LT D10%TH 5L, IE
ik, RX 1, 77 7XW0R9EBY, FHE, FRICERZ CFFICEY,
1) a. Look at that sinking man.
)
)
)
)

A s
=y

Look at that thinking man.
They thank for it.

\]

&

They sank for it.

w

p::

4
5

&

It’s worse doing so.

b
b

She has a small mouse. b. She has a small mouth.
b. It’s worth doing so.
b

a. Can you find the pass ? Can you find the path ?
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6) a. What a big mouse he has ! b. What a big mouth he has !

7) a. There was a pass over the hill. b. There was a path over the hill.

8) a. Did you see her sum ? b. Did you see her th_u@ ?

9) a. Please sink slowly. b. Please think slowly.

10) a. I like small sum. b. I like small thumb.
#£XI

1 2 3 4 5 6 7 8 9 10 ey

63 39 o6 62 87 75 o0 39 44 74 59
777X /s/—/08/ IEZ&E

1 2 3 4 5 6 7 8 9 10  Ave

E(FUTELRS THEEORVIZL/3HLDTENS, 2), 8), 9)TE
ZEAERRITETVRWIZE Y, HRAZLE > TROEFEARTOULOT
Hbo TOHTD), 6), 10) TIREEFENTOUEBR TRLDFLED, BZ
5 AMPMDFDRDP N BEo72725 ) LHESI NS,

9, ZRODEEEOEH VL) TH LD, 77— 75 L a (B & c TidFER
EFEO/s/HEPIT (a TRPRIEo&ED L) HETNLD, bD/O/3EELED
TTHIEEAER I A%V HBREDS A D cue [TEPNTHALE
GolzDTIEG WP LBEIND, BIXIZXEKRD ‘pass’ / ‘path’ DE 32T Y

WoTEHEFFMLIbDTHL, HBEMIL/s/, /0/DIEHZFLL TWh,

KE
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BEFENFNOEITE (M 2E)Ida)—34dB, b)—52dB, c)—42dB T, b)
RN 5,

[ 150 300 450 §09 750 300 1050 1200 1350 1500 1850 1800 (nsec)

o e i

XX

KMXI2H¥H 5 X H12, 6) Tl ‘mouth’ — ‘mouse’ — ‘mouse’ DJETH T X
NTWBEY, BD)DHELFERLTDh, cD/s/ICHRTan/0/OMZ ZEDHRIC
Kv, FEZHET S & a)—43dB, b)—30dB, c)—34dB TH v ,10dB LA
LOEND L,

900 1000 1700 1200 1300 {400 1500 (msec)

i
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2D, WREIERSTOMIZOBEELZFINDIC a%EATE o
b EBbhs,
STRIZIIZDOWVWTTH B, ZOEGFIIHIZAETIEL L TEROMI
e MLEICEURIC D L TEBRICIERIC 7 o 72T REED SV, XTIk o CTE
DA E R TAHA LI,

0 250 §00 750 1000 1250 1506 1750 2000 2250 2500 2750 3000 3250 3500 3750 (msec)

smo: 1 Bam s mo: 1l s A m smo: 1 ga m
200 i
Hz H

170
139}

a0

- 0 @ B o ® wN® o

kH;

X XE

MHRIERETHOBEOEAZEE L TWaE, 7 — 7 2B { &a—small
thumb, b —small stin, ¢ —small shm (ZFZ 2 525, Ev FHiEd Fhr L <
BEL TS,

3.2.10 /z/—/8/

ZDRT TOXILLIERD minimal pair sentences 105FTH 5B, £XM, 77
TXLICRA £ 91, EEFRIIFEFITEL, FRIERL Z1I00FEN P RIK
Tz&%o

1) a. Now it’s closing time. b. Now it’s clothing time.
2) a. Close it when she comes. b. Clothe it when she comes.

3) a. They were terrible before then. b. They were terrible before Zen.
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4) a. When shall we close it ? b. When shall we clothe it ?
5) a. Sorry it’s closing time. b. Sorry it’s clothing time.
6) a. It will rise in the heat. b. It will writhe in the heat.
7) a. He seems to rise in the water. b. He seems to writhe in the water.
8) a. I have to study then. b. I have to study Zen.
9) a. I saw snakes rising. b. I saw snakes writhing.
10) a. Would you close that ? b.  Would you clothe that ?
FXI
1 2 3 4 5 6 7 8 9 10 |

68 32 49 o4 45 60 38 14 62 70 49

J57X
%
100

/z/—/8] EESE

80
60
40

20

1 2 3 4 - 5 6 7 8 9 10 Ave

WONIEE L2 TN b2 &1, & I Zen/ then’ ? minimal pair T
Wb o Tn5H3), 8 DIEERIIFHIEN LTHE, INEBEL (EXT
YT APDOHIZHTL % Zen” () EWVIEFEMTEL o722 LR
AL TwaHEEbNE, BOFHNITT HEEOHBEENENIFEE TR TN
B EVRBIES I

EHZNIZLTY, test BALKDFHEDFEHET TH 5 &) BOFHEREE
TH Y A H3)TiF49%, 8) TlEld% &, TNITETFEERICRELBEESIHT
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BDERER, BABERRIZT TERHHADZ O LV,

B)NI4A%BIEH T D ICEELEELOTRIEOER ST R THDL L, HEE
1514491194 (=79%) dar~v—2 LTWwWi, #ZT7F—7%MnThbL
MXTicRons &Hie, —HFHOREFZ T/ 0/ 2@ L TEELTWVASZ
AR L7 3EOFEFICBIT A KBEH O pitch 2216471 ol H228—79, 2
mE112—77, 3BIE117-77& > TWb, BHEREIZFI LI W/ 2/ —/8/D
MY LYW (Ev T, M, BE) OEWIS, JVHFRICKUGLTWSZ
ERHLNTH S,

0 200 400 GO0 800 1000 1209 (400 1600 1800 2000 2200 2400 2600 2809 3000 3200 3400  (msec)

1

0

-1
500
55
459
ar
290
210
10

sthdr z e n st ad1 8 e n stad: z e o

XTI (XFED ‘study Zen / then’ D& % 1) B > T D ELE)

Z DOXF I DFEE L IEHE 72 BBR T minimal pair sentences (2o TW WD T
Hbo ANZ T TATAENK, 2FEHOREZTNV//Ih>TnhAI L
&7 5 %%, segmental phoneme DT A M X DFiA EIFIZH Tt prosody

RO ZEHFEETHY, FNIIKLTWAR)IET A M#EE L LTH
YT, INEBVTREMLEST 2 HFP L) EREERZHFL 2 EHES
LEbhb, #LTEDHEDOFHEERIINGE Y, /tI/—/I/L )PPt
EWVnH) ek A,

2, 34), 10)ix &5 5 b close/clothe @ minimal pair TH A DIZ, 4) Tit
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IEEFEH32% L1, —HL0) TRT0% ERERBEERLTVD I LIZHL
T, ED L) RFPNPTEETD A 9 220 XKREDDF A P EIZ ‘close it’ / klouzit
/', ‘close it’ /klouzit/, ‘close it’ /kloudit/ DNETEH 2 b, cHIEHEE %
HEIATHHD, ¥WIEDHEBENHE-T2%2<T—7 L TWh, #ZTTF
=T TCTAMEZERCTAL L, bD//7ZFHRE VHEIIESTSN T 5,
ZITCIOETOWHEANR VAT FTLERTALEIXND LS THDY,
TOZEPHBIIRIN TV,

] 150 300 450 §00 750 300 1050 1200 1350 1500 1650 1800 1850 2100 2250 2400 2550 2700 (msec)

mB//DFiREE b a Tid52ms, b82ms, c4bms &% > THBY, b75F
DPHEIZR V. HERE DZ < A2 O suprasegmental Z2EWIZKIG L Th 2 E A7
LEZDOND, T2 TH HERABERE T HEEW (prosodical) HREFRIZRILL
RFTWIEDPTh Db, ¥—7 v Mk ARIBEOHRMNPHEEEZ G 3IEICF D
THb,

4. & i

U ERFRFEIEBRD T A FOFERSFTE2E LT, HARA
DFBFEERFINIBITLEZEIIOVWTEELTE L,

FEZHICL 5T

'null
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ZEOMREEELOEERD LI RS, |

D ALK WESNTWEFERTOFTOLBNES 27V — T LT

B 7= FICKBI S N %o BHEIMICIENZ LRD LISk 5,
WG T I—T St =W > =W > s = > — /0> /8 —/d/
TN — TSz =0/ >/ =1/ > s/ —/0/>/n/—/0/>/b/-/v/

2) BUEFEATD, GREVHBHEISRIG ST ZOMOMEICHNLIGEIC
EXTHHLRT L, FEORRP, BBRTIZILVANIRNETHE, ZNiI
HREFROEEHHEEDECICHET LD TH 5,

3) FLXRT7THoThH, BEROBEHETEX 7 \ViEZHY minimal pair sentences (2
BENLEE, FICZOFIIFINREN DL L 2ERNIF—BRETH 5,
4) HEAANEEBRZEER -5 MACZE) - 2720 boFRERE T oY
T4 — W GERICERICE LBRARIESIC G 2720, HE5VITEREIHEES
N2 HEADRD B, FRIZE v TOEILICHERTH 525, ZHILHAREN
v F 772 MEEETHLIEIIHRTALERDNL, L72d o THEX

Dis LITIZBWTE, BOoEENER2H—IITLZLEPHETH S,

p=3
D WHEESR - BiZESA (1998), p6b
2) r& (1984), p230
3) WHER - BiZEIA (1998), pls4
4) http : //www.glocom.ac.jp/project/chijo/2001 07,2001 07 26.pdf
5) ibid
6) http : //www2.justnet.ne.jp/~kays/qa-m6L.htm
7) WHEER - RILESA (1998), p 184
8) fr& (1982), p74
9) WBo 7ZM8kD B\ VZEHD TN = T2 T 12D DFIHFETH Y, 7 7R —50H
OFERIE, BRI E LTERI NS,
10) Lado (1961), p43, “If a variant of the native phoneme is phonetically similar to a different

phoneme in the foreign language so that when transferred it would function as a different

phoneme, we have located a very stubborn problem.”
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11) IWHEEX - By ESA (1998), pl173
12) Lass (1976), p 198
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